Fuve o day Monday 29t June 2020

4-1= )
8 3 126+(5 x3).
634 x 76 = 156.3 —7.457 =
|
6750 + 1000 = A bow containe trays of melons. There are 15 melons inv o tray,

There ares 3 trays i @ box, A supermarket sells 40 bores of |

Now check eachs answer by using o different calculations e.g. the inverse or another method,



Five o day Tuesday 30t June 2020

3-2= 2
7 5 175 + (7 x7).
487 x 39 = 143.6 —9.308 =
|
3420 = 1000 = A bow containes trays of melons. There are |9 melons i o

Ther\emlkb\axdquwa/bowAsupﬂmw\ketseU& 30 booces,qfl
melm&Howmamd/melon&doesfthejwnoﬁwtselL?

|
Now check eachs answer by using o different calculations e.g. the inverse or another method,




Five o day Wednesday It July 2020

6-2= )
9 4 146+(9 x4).
367 x 56 = 156.3 - 6.328 =
|
7230 +1000 = A bow contains trays of melons. There are 17 melons v a tray

There ares 5 trays i @ bom, A supermarket sells 60 boes of.

Now check eachs answer by using o different calculations e.g. the inverse or another method,



8 1= Fuve o day Thursday 2r July 2020
12 2 112 + (82 x 5)
438 x 67 = 182.4-7.903 =
|
1030 + 1000 = A bow contains trays of melons. There are 12 melons v a

There ares 7 trays v o bom A supermarkeb sells 50 boes ol |

|
Now check eachs answer by using o different calculations e.g. the inverse or another method,




Five o day Friday 3¢ July 2020

5-1=
7 4 174 + (62 x 9)
543 x 35 = 145.1 — 8.832 =
| |

6007 = 1000 = A box contains trays of melons. There are |9 melons v o tray,
- There are 5 trays inv @ bos A supermarket sells 40 boxes o
mdm&Howmmg/mdm&doe&ﬂ\@awnaﬁwtselL?

| |
Now check eachs answer by using o different calculations e.g. the inverse or another method,




